g 24 919 o] AEE /|5 el A 5 27 g 2L9

OP R S Q
-4-3-2-101 2 3 4 5 6

D 0(-4) @ P(-3) ® Q<§)
@ R(-1) ® S(0)



B7

(4,
(6,

w
D

)
. (6,
) (4, jll)

w




3.

& % A 2429 91] Qe Ao AT

@) (3,2) @ (0,4)
@ (-1,4) ® (1,-2)

® (-5,-1)



45
m

< c

Lo

I
o|J
g
—_
N
) =
N = i

<t
~ Q@ ©
I
%
“w —
oF ENE
B s % 7
A < U @
ool 0_1_
,LHJ‘,A @ @ @




® R(-3,-4)

(o)

ol

17_|A :x

B

Hq T+L\,\,\Sw \,\T+L\_

i R SR
\\\\\\\\\\\\\\\ |

6N rww,i,P,fofvaf_

olig AN R I

i =

W QT T
[ AR 5 R

,wu_l 744\,\7ﬂ‘r\7ﬁR4\"

a H.i‘.”‘.mpm%.,o.ﬂ‘._

X

o

oF

B

o

H

an

ol

@ Q(2,-5)
® T(-4,6)

@ P(-2,3)
@ S(4,0)






7. AABC 9] Al Ho] 2m7F 242 A(3, 2), B(3, 6), C(-2, 0) & ),
AABC 9] Hlo]=?

@D 5 @ 10 3 13 @ 20 3B 40



>
LA



9. o= A oM Al 4AREE flofl e e A=

Q (3, 3) © (-1, -7 ® (2, -376)
® (-120, 3) ® (5, 0)

R
=



10.

A P(ab, be) 7+ 93do] obd x = flofl ol& ™, th= & €%

D@ a=0,b=0,¢c=0
® a#0,b=0,c#0

® a=0,b+0,c=0

@ a=0,b#0,c#0

@ a#0,b#0,c=0



11.

A (a, b) 7 A 2AHEH 910] L o], th

@ (b, a) @ (-a, b)
@ (ab, D) ® (ab, a+b)

=
K3

A 344 910] e

® (a, a-b)



12.

A Aab, a-b)7} Al 3AHEHO] HY

H4e?

® B(b-a, b)

@ E(-ab, a)

a2

@ C(a, b)
® F(0. 0)

o, the % A 4A1EE 9]

® D(ab, 0)



13. T PB,a+1), Q3, 2a+5) 7t x Fofl tiste] AL o, ¢ ] S
ool et

Q-



14. A (3,2) 2 x5l diste] i1 A B, Aol tisto] AN H CE
1 o(:)] 15

14
A HAH 2 5h= 417h9 ABC 9| B ol=?

@D 10 ® 12 3 14 @ 16 ® 18



15. HEFHE 9o H A, B, C, D HE =
x+yQ #tol 591 H& Zetet,




16.

ChE SEPPS B3 ok BE7} ek

yl\4 .
TS Fop et e
= B T -
st ISEPN
-4 | A0 T

[=]]

oF lx ot
erH 4 ole
(2,3)2(-4 1)->4 -4)—>(-33)>(-2 -2

& e
=%



17. 5 A A(a, b-2), B@3b, a+1) 7k x = Slell 9Lt 3 C & 277}
C(2a+b, a+2b) 4w, sAABC 9| {olE 75HH?

@ 6 22 on @Z o



18. #HmAW 9o Al A A,B,C 2| HEs} T3 2E v, AABCL] ¥
ol Fatm?

=
=

, 2), B(2, 4), C(0,-2)

@D 10 ® 12 ® 14 @ 16 ® 18



19. A P(a, b) 7t Al 4 AHEH 919 AL o, A A(ab, a-b) = A 2
AR 9]9] H1A] Fotoi e,

g A ApE



20.

LFIF_\;

ir
ar
y
1]
2H

v

L

A 919 Al A A, B, C ol thsto] A(2a-1,-7), B(5,3 + 2b)

;:_oﬂ tfjoto] A2 A o]3 Cla—1,b + 6)
Jol5 Fstofat,

Qo]
=

o, 4723 ABC



